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Question Number : 1 Question Id : 70819117944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819158981, Both A and R are correct and R is the correct explanation of A

70819158982, Both A and R are correct but R is NOT the correct r_-xplanation of A

70819158983. A is correct but R is not correct

70819158984.

A is not correct but R is correct

Question Number : 1 Question Id : 70819117944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 ol (el 21d © © 215 544 A 24 oflsf 213810 R A1l sisd © ¢

s A UE A A B AL [ARSHSL AL MHIA . WOL A 24 B Al SN sy EL-syEL 8.
SlRe R ool 50 24 Blocti2lel 28usi #i ¢l sddl,. MR, = MyR,
Gurisa [Beninl e, 12 2uddl [Esedl 18] Al dpy Gaz wabe 5.
Options :

70819158981 HAAXARURUL Y 24 R A4 WY A¥lsrel 53 6.

20819158982, It A P R Al © Wig R ¥ A« 3 wu¥lsel suq «l.

0819158983, A {F B HeLR 23 4l.

70819158084, A ¥ Ll AR 0 ©.

Question Number : 2 Question Id : 70819117945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :
List - I List - 11
(a) h (Planck’'s constant) (i) [MLT™ 1]
(b) E (kinetic energy) (i) [MLZT 1]
(c) V (electric potential) (i) [ML2T-?
(d) P (linear momentum) (ivy ML2I"1T-9
Choose the correct answer from the options given below :

Options :
70819158985, (@) — (i), (b) = (ii), (c) — (iv), (d) — (iii)

70819158986. (a) — (iii), (b) — (iv), (c) — (i), (d) — (i)
70819158987, (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819158988, (@) — (i), (b) — (i1), (c) — (iv), (d) — (i)



Question Number : 2 Question Id : 70819117945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Yadl - 1A el - 1 Hadl.

el -1 yadl - 11
(a) h (relesAl 2u0is) i) [MLT™Y
(by E [:’L['::L Gled ) (i) [ML2T™ 1
(c) V ([Hgd fldaun) (i) [ML2T"2
(d) P (fﬂﬂi{ EPLHH} (iv) [M [21-1T 3]

Al e [Asedisisl Wl sesion] uu sl
Options :

20819158986, (@ = (i), (b) = (iv), () — (i), (d) — (i)

20819158987, (@) — (i), (b) — (ii), () — (iv), (d) — (i)

70819158988, (@) — (iii), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819117946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

- o)
70819158989, 10 m/s

70819158990, T ms Z



70819158991, 98 ms™ <

'3 g
70819158992, 2T ms =

Question Number : 3 Question Id : 70819117946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e o {122 detd 4R1ecll HIEL Al ARSI 2 s €l sl dlds AL 308 o srord el uebol
€3l
Options :

- 3
70819158989, 10 m/s

70819158990, T ms ?

70819158991, 78 ms™ <

o) o ]
70819158992, 27 ms <

Question Number : 4 Question Id : 70819117947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :

70819158993, -0 €M

70819158994. 184 cm



70819158995, 148 cm

70819158996, 1> €M

Question Number : 4 Question Id : 70819117947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
25 (qerell 2Aqetle dolledl 1edloL 5% 8. 2qelts Aol U1 6 om 8. 2esieil gl 504 Hz 9. 21ud
Aty eeelell 264 336 m/s ©, Hlew ugldl Yt 2is vigeigle Avilel Guzdi S wiE ot GHL B, sl
U 2Als Gous A o dvice] WeldL 2t Aollni 2edsd el
Options :

70819158993, -0 €M

70819158994, 184 cm

70819158995, 148 cm

70819158996, 1> €M

Question Number : 5 Question Id : 70819117948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
8| C
G D
F E
Options :
.f:-_ _/.: 'j .-_,:.
70819158997, 161124 j+32k
70819158998, ~161 24 j+32k
70819158999, 161 24 j+32k
- 0 e U-’_*
70819159000, 101124732k

Question Number : 5 Question Id : 70819117948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
AUHLA edlsy GR1edl 25l ABCDEFGH e

e Swu reie pll i =S d
AB+AC + AD+ AE + AF + AG + AH,

ST SN T A A A
HAWU Sedl ¢l od, AO=21+3 j—4k ¢id?

G D



Options :

-’:-. . .«._ . ,»\
70819158997, 161124 j+32k

70819158998, — 10124 j+32k

70819158999, 16724 j+32k

70819159000, 101+247 32k

Question Number : 6 Question Id : 70819117949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are revolving round the earth at height
of 600 km and 1600 km respectively.

If TA and TB are the time perinds of Aand B respectivel}-' then the value of TB—TA ’

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options :

K
70819159001, 1-33% 107 s

4 D 3
70819159002, +24x107s

3
70819159003, +-24 X107 s

70819159004.



3.33x10% s

Question Number : 6 Question Id : 70819117949 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

200 kg 2 400 kg Al 6 GuaAct A i B y2elld $3c 21454 600 km 244 1600 km Gl ukswel 53
9. o Ty A Ty A4 A 2 Bl kst A AL YA Ty-T, = @l

[ yeelldl Boctt =6400 km, yeello 51=6x 102 kg |
Options :
K
70819159001, 1-33% 107 s

) ; 3
70819159002, +24x107 s

)
70819159003, +:24x 107 s

2
70819159004, 5-33 %107 s

Question Number : 7 Question Id : 70819117950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819159005, ~ U2 A
70819159006, ~ 043 A
70819159007, ~ 086 A
70819159008, ~ 12 A

Question Number : 7 Question Id : 70819117950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X 2t Y A il 205 5 V o{l ool st 208d 8. Dy 24 D, 25 Uit [RldsiA els © o ail
el SLAlAL At L (5 X AL rddel €l ol oheRl gL Y2l wsiel (et 2UeL

Dy 100
L::{ AN
D
i 50
I~ "y

X Y

Options :



~f3 A

70819159005,
70819159006, ~ V43 A
70819159007, ~ 086 A
70819159008, ~ 12 4

Question Number : 8 Question Id : 70819117951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement II : The side band frequoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819159009. Both Statement I and Statement 11 are true

70819159010. Both Statement | and Statement 11 are false

2081915901 1. Statement 1 is true but Statement 1I is false

70819159012. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819117951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



{12 o [Fadl A s
[ 12 2 kHz Al el Roradl 1 MHz 540 2AEHB 526 4 9wz 9. Blodd qe oes-
(42 (2ual) 4 kHz 8.
[ 11 s o (wiiel) 2ugfeil 1002 kHz 214 998 kHz 9.
Gualset (Al daefl, 12 2uid [sedl 18] 2l 4lod Gor et L
Options :

20819159009, it [Fen- 1 20 (S 11 e 9.

20819159010, [clentet 1 24k (et 11 el 9.

20819159011, FA 1 E 6 Wy R 11 Mg ©.

70819159012, (A&t 1M © Wid (et 1 i ©.

Question Number : 9 Question Id : 70819117952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options:
70819159013, Both A and R are true and R is the correct explanation of A

70819159014, Both A and R are true but R is NOT the correct explanation of A
70819159015. A is true but R is false

70819159016, ‘» 18 false but R is true



Question Number : 9 Question Id : 70819117952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
AL o4 (Al 2004 © 0 21y [aA 24 A 21 olatd s R dlb saien 9.
s A: sl s 2éel M oRa szl A 9 i il Guila uldeimn Geugt ug «l.
slil R ot seeiEl ulhedl deud 4l 9.
Guals [l el 2t Esedl W51 Hal 4oy Gur yis s,
Options:

20819159013, A 2R Rl & A R 2 A 4 1Y PElszeL 21l 9.

oi- . JIRTRIE 5 1 1= 2
20819159014. A A PAR HRUL Y W R¥A 4 A9 Puplsael Al

70819159015, A 1 #% HELR Mig ©.

3 n 5 ::‘. -,
70819159016, * 1 Mg HELR % ©.

Question Number : 10 Question Id : 70819117953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= = respectively for the given circuit is :

5 () 50
F ¥
11} 40
— TuEsTOL
L
Options :
I18E SE
55 " 18

70819159017.



5E 18E
70819159018, 18 35

106 SE

70819159019, - 18

5E 10E

70819159020, 18 33

Question Number : 10 Question Id : 70819117953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2AUA WEYY HL 1=0 2 L= oo 333 Melle (1) WAL

Options :
18E 5E
70819159017, 2> 18
5E 18E

70819159018, 18 35

106 SE

70819159019, - 18

5E 10E

70819159020, 18 33



Question Number : 11 Question Id : 70819117954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first Iinear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819159021, 1-64 mm

70819159022, 0-90 mm

70819159023, U-82 mm

70819159024, 1-80 mm

Question Number : 11 Question Id : 70819117954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g0l el 1 mm it el SUsi 25 B4R 100 S4LS). sl 1glaretl or Sel 2 $3js AL YA
A1 41 AgOUsE #5el Yol s el el 8 stu Al % 8. st i A Slsvetl svsousl s
ysalul 2419 § 4l 245 A s e Al add UsE S, sl dduuisie whd Rl 72 A s1dL e e
M A a9, diel Bt 8, ([l saiiel 2 el

Options :

70819159021, 1-64 mm

70819159022, U-%0 mm

70819159023, U-82 mm



70819159024, 180 mm

Question Number : 12 Question Id : 70819117955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
this, their de Broglie wavelengths are A, and A, respectively. The ratio -~ is:
(i)

Options:

70819159025, 2.8

70819159026.

=]
oo

70819159027.

70819159028, -8

Question Number : 12 Question Id : 70819117955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(20 (uleiiad] 218 a-501 24 208 Mol 200 V Al B dstaddl uebld i 8. ReE, deidl
0N . ws ey » “ " - :\P =
Sl-dtoefl oL dodal 2 h 2t A B el Tl

i |
Options:

70819159025, 2.8

70819159026, °©



70819159027, /-8

70819159028, -8

Question Number : 13 Question Id : 70819117956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iig_ht sOUrces having intensity in the ratio 2x producr_- an interference pattern.

| ..
The ratio 222 T il be :
max | min
Options :
2y
D]

70819159029, =¥ 1

70819159030.

W 2x

70819159031, * 11

o
v2x

70819159032, * 1

]

Question Number : 13 Question Id : 70819117956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o Hef| clltcltzAiedl 2linz 2x €l dall o Yalersa ustal GRaRlL caldszel e Gyt 8 9. dl 2elieR

Im 1% Imiu o)
— Y3,
| H

max ' min

Options :



70819159029, =¥ *+1

70819159030, 2**1

70819159031, * 11

P
v 2x

70819159032, **1

]

Question Number : 14 Question Id : 70819117957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options:
u+to

70819159033, 2

[ I |
70819159034, 2

III’2 | HE

V2
70819159035, 2

[ 2 2

(o= —u*

V2
70819159036. -



Question Number : 14 Question Id : 70819117957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
24201 W12l AU sl Yetef 2Aleoret (o Wie (Uioedt) A w212l 2t Sedl Sooll o ofee ol wuk
Q. griedl 4L 2L [Bord Do Seal Aol waz 421 )
Options :
U+

70819159033, 2

0=

2

70819159034.

| = -
I| v tu

70819159035 | 2

[ 2 2
[0° —u

|
70819159036, | 2

Question Number : 15 Question Id : 70819117958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

70819159037. A2z and 2:3 20

70819159038, 2:1:land4:2:1

70819159039, 1:2:4and1:1:2

(. 7. .
70819159040, 1 :2i4and 2:1:1



Question Number : 15 Question Id : 70819117958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B el Bl SR 2 BAS a-58L A oUS1H A UL A 2 9l 52 9. LR Al

Yoisly il 2 el 6L Aol 2N S0, A w8,

Options :

:1¥A2:1:1

a2

70819159037, **

20819159038 2: 11 ™ 4:2:1

411

I3

I3

70819159039, 1

4 A 2:1:1

I3

70819159040, !

Question Number : 16 Question Id : 70819117959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :
70819159041, 01 ™
70819159042, V19 m

70819159043, U-2 m

70819159044, 10 m



Question Number : 16 Question Id : 70819117959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ad stz 2l 218 4 Segdl 24453 0.05 m 244 0.2 m e 2dd o4 gl e el 418 - 1+
qelmedl ©, duadl Bset 9.
Options :

70819159041, 01 M

70819159042, V19 m

70819159043, U-2 m

70819159044, 1.0 m

Question Number : 17 Question Id : 70819117960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=60{)

A

15V

r= {
c—py R4 Lg20V

|

Options:

70819159045, 1.33 H and 250 pF

70819159046. 1.33 H and 150 pF



70819159047. 0.8 H and 150 pF

P 'j. i
70819159048, U8 H and 230 uF

Question Number : 17 Question Id : 70819117960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L-C-R ufuudi Geeyez el stell 2ugle 100 rad /s 8. dlsr wRugmi sdid [Bga-aest 205l
gLl ©, o[ 2Alcnprel i sl darsdl (5ulel) 2,

R=60 ()
AAAARA

15V

c==py N0 L&y

o— 1

Options :

70819159045, 1.33 H 21 250 uF

70819159047, -8 H AL 150 uF

' 3 o -
70819159048, & H #1250 uk

Question Number : 18 Question Id : 70819117961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o _ 7 - . _
A diatomic gas, having Cp :;R and Cy :;R, is heated at constant pressure. The ratio

dU:dQ:dW:



Options :

e |
]

70819159049, 2

70819159050.

70819159051.

70819159052, 2:7:3

Question Number : 18 Question Id : 70819117961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

Cp=5R 24 Cy=_R auddl 18 [6 - uvangelld a2 S8l o SRl 2 9, el
dU:dQ:dw _ u.

Options :

=]
I3

70819159049, 2

70819159050.

70819159051.

70819159052, 2:7:3

Question Number : 19 Question Id : 70819117962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two radioactive substances X and Y originally have l\]l and N2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio & will be equal o:
Na

Options :

r—*|=,.-.1.

70819159053.

:__h}l,_a.

70819159054.

70819159055.

oo | =

70819159056.

Question Number : 19 Question Id : 70819117962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o X 2t Y 22 soe il Wi wdel 254 Ny 2l Ny (6a4l a9, X Al 2d-241 Y -l

r = r L o = . Ll N
-4 53l AL B, Y AL AGL ALY sdeell ML U viHl ezl Hva qu 4 9. N—l
2

qelr ol

Options :

r—‘|=._.-J.

70819159053.

_,_}|,_.'

70819159054. -

8
70819159055, 1



3
70819159056, 8

Question Number : 20 Question Id : 70819117963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁona[l}-' attracts a pa_rticle placr_-d al 3R from its centre with

-
A"
a force F,. Now a spherical cavity of radius | Y | is made in the sphere (as shown in figure)
) =3

and the force becomes Fz- The value of Fl - l"'2 is :

Options :

70819159057, 1 :50

70819159058, 0 * 41

70819159059, 26 : 2

2 . 34
70819159060. SHE

Question Number : 20 Question Id : 70819117963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



R Blscl drietdl 2is et 21 dett 5ol 3R ek 2éall 50 F, e/edl 4 g1 93 catsie o 4l 2usd o),

¢, Ll

IE e . LU ik ; A
7,J steell 2l ol ([Bg) st 204 8 (Lslel ealicdl Yorot) vl A F 44 S,

\

PR . 08

Options :

41 : 50

70819159057.

70819159058, 0 * 41

70819159059, 26 : 2

70819159060 = ° 20

Physics Section B
Section Id : 708191737
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes

Sub-Section Number : 1



Sub-Section Id : 7081911017

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819117964 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If cnntainor is suddenly stopped then change in temperature of the gas

X
—
(R=gas constant) is R Valueof xis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819117964 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4.0 u £ a1adl A5 LB Ay s AALgs AU %mcu'ﬂl 1 9. WA 30 m/s Al 42 4l ol 52

9. o Wt 4lets 2L 2 Al Al AR 550 f (R= ey [Hudis) ), x 4 4t
o3,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819117965 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of thisdropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819117965 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819117966 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819117966 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819117967 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis ___ m/s. (Take g=10 m/ 53]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 24 Question Id : 70819117967 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
| m eoud 8 oldd 2is il el 2is Ged adu eaid 8 % ool Sl ey 24 ~Ydd deuadl
el 5:1 9. loudl el Grudu R Wi el m/s.®. (g=10m/s2dl)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819117968 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

Lj:i E ;)
r1{]' rE'

where, a and  are positive constants. The equilibrium distance between two atoms will be
I d

i e
2a \b
T‘ , where a=_

4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819117968 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117969 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— / k) A A
Theelectric field in a region is given by E = | —E; i+ i Eyj
e 3 i

% The ratio of flux of rr_-ported

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

[Here { ' I and k are unit vectors along x, y and z-axes respectively]
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117969 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819117970 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
x10-8 H,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819117970 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819117971 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis __ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819117971 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
b2l sl 20 cm 2AUAL 10 cm it WA 2 S e el dedt gzl 1 s bl
puy ., ol deell Segdend  om @,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 29 Question Id : 70819117972 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____ nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819117972 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819117973 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K| (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ L E; , a
gives then null deflection at ]2. The value of L—l is E , where a=
2

|| £ G
=/ '
I'E, ~ 7K,
| E
oK A |
«2em— ], I
A
£— I i
I
I
Rh J,¢—60 cm—}l :
, J—— »
B"{ Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819117973 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId : 708191738
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911018
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819159071, (&)

70819159072, (P)

70819159073, (©)



70819159074, (D)

Question Number : 31 Question Id : 70819117974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819159071, (&)

70819159072. ()
70819159073,

70819159074.

Question Number : 32 Question Id : 70819117975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819159075.

70819159076, | 1€2

70819159077, 22

Hes®
70819159078,

Question Number : 32 Question Id : 70819117975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U 585 AlE Yored, Al Usl 58 2l 2ifacd auiadl 42 )
Options:

70819159075.



A
O

70819159076, 11e2

70819159077, B2

He,
70819159078,

Question Number : 33 Question Id : 70819117976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 i.s x. The value of x is :
[Assume : No cyano complex is formed ; Kﬁ}}(AgC N)=22x10"10 and K, (HCN)=6.2x10 0]

Options:

70819159079, 0-625x10°°

70819159080, 1-6%107°

16
70819159081, 2:2x 10~

i A
70819159082, 1-9 % 10

Question Number : 33 Question Id : 70819117976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9 [l d, s Al
AgCN)=22x10"16 244 K, (HCN) =6.2 x10 1]

pH=3 4a1ddl 052 419814l AgON «ll gledl v ©. ellx o Y&t _
2lbel ool -ell] [K

Options :



) f
70819159079, 0625 %10

70819159080, 1-6%107°

P2
I3

p 16
70819159081, 2:2x 107 *

\ 5
70819159082, 1-9 % 10

Question Number : 34 Question Id : 70819117977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption 'lis

m

directly proportional to P*. The value of x is :
Options:

70819159083. 1

70819159084, “¢T°

70819159085.

70819159086.

Question Number : 34 Question Id : 70819117977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819159083. |

U
70819159084.

70819159085,

1

70819159086. '

Question Number : 35 Question Id : 70819117978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819159087, AG vs T

70819159088, AH vs T

70819159089, AG vs P

70819159090.

Question Number : 35 Question Id : 70819117978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
pifdowerd 2ugla 2ucdvAly e 51 9 d 9,

Options :



AG (4324 T
70819159087. :

AH [E3ea T
70819159088.

AG [E3ea P
70819159089.

(AG-TAS) (8324 T
70819159090.

Question Number : 36 Question Id : 70819117979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
20819159091, KOs +H,0, — KIO; +HO +0,

2 i )
70819159092, | BACRE SR Sx AT+ Tk h

y
70819150003, 2 TH0p +2HT — 1, + 2H,0

- 2
70819159004, “l2 T Ha0y — 2HUH O,

Question Number : 36 Question Id : 70819117979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

{12 e w{lsell Usl 53 215 H,O, L 2Aisdlgaid sl 2aous g2 6 7
Options :

70819159091, KOy + H,0, — KIO; +H,0 +0,



2 Z .
70819159092, 2+ H0,+20H™ - A~ +2H,0+0,

P
70819159003, 21 THO0p +2H" — 1, +2H,0

- 2
70819150004, 2+ H20; — 2HA 0,

Question Number : 37 Question Id : 70819117980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B,H is :
Options :
70819159095, All B—H—B angles are of 120"

70819159096. The two B—H—B bonds are not of same length.
70819159097 Terminal B—H bonds have less p-character when compared to bridging bonds.

70819159098, Its fragment, BH; , behaves as a Lewis base.

Question Number : 37 Question Id : 70819117980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
B,H, I iy [au Al
Options :
20819159095, “t4lsr B—H—B vjeuil 120° ©.

-\I‘ . -\'-\. . " "\.
20819159006, B—H—B “l i dougu 4.



20819159097, 9 efelil AeHeBl 9 B —H ol p-agel (ugld) =1y 9.

drll, &es BH,, g8 il o/ 4 adels 52 9.
70819159098. :

Question Number : 38 Question Id : 70819117981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : CeO, can be used for oxidation of aldehydes and ketones.
Statement 1 Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819159099, DBoth Statement I and Statement 1l are true

70819159100. Both Statement I and Statement 11 are false

70819159101 Statement 1 is true but Statement 11 is false

70819159102. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819117981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al o (el e s
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[ 11 : EuSO, o evelld gratet 21 noin lesuiq sl 9.
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Options :



20819159099, 13 (A1l I 244 (341 1T 20140 8.

20819159100, % [aei 1 24 s 11 wicl 9.

e :;' > :: T o m
20819159101, Akt 1 0% © Wig R 11 W 8.

1 _“-I‘; o :: it 3. -
20819159107, Al Mg © Wig R 1T g ©.

Question Number : 39 Question Id : 70819117982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819159103. V*' and Cr'

70819159104, Cr* and Mn**

70819159105, Ni*" and Cu’

h 24 B 3
70819159106, e~ and Co

Question Number : 39 Question Id : 70819117982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{12 2 ol sl sl Al el Sasdia MraAL WA U3l )
Options :

7 T
70819159103, V- M1 Cr



- } =% y o] b
70819159104, €T~ it Mn®

.2} R '
70819159105, V1 Mt Cu

2 e S
70819159106, Fe~" 1 Co’

Question Number : 40 Question Id : 70819117983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [Mn{CNj{i]j1 and [Fr_‘{'{:l\l]{-,]3 , Tespectively are :
Options:

70819159107, @°sp” and paramagnetic

70819159108, 5P '@ and diamagnetic

70819159109 d*sp® and diamagnetic

30 Nen _
20819159110, 5P @~ and paramagnetic

Question Number : 40 Question Id : 70819117983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[Mn(CN) 4~ 24 [Fe(CN) 3~ - 25301 24 Zoisld 2aeus 2o453 AL
Options:

2 3 B ;'b
20819159107, TSP M Aol

spPd2 it Ul oSl
70819159108. -



dsp3 i Ulaoeisl
70819159109.

332 o |
70819150110, P ¥ Mgl

Question Number : 41 Question Id : 70819117984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819159111. Both Statement | and Statement Il are true

70819159112. Both Statement I and Statement 11 are false

70819159113. Statement 1 is true but Statement 1l is false

70819159114, Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819117984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819159111 o [ 1 24 [t 1 2l .

ol [ 1 20 (s 11 w2l 9.

70819159112.
T 3 o g [Hs i oey
20819159113, A 1413 © vel Bum I ©.
COIEN RUPATRICRERIER | DR
70819159114. ’ ;

Question Number : 42 Question Id : 70819117985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819159115, 20-33
70819159116, 23.33
70819159117, ©3.53

70819159118, 21.63

Question Number : 42 Question Id : 70819117985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1.80 g lisllovet 1] 245 vt (C,H, 0,) o Y8l Gt 531 264 g CO, 24 1,08 g H,0 I 6.
dll s1o4[As oyl wlislodl st 9.

Options :



70819159115, 20-33

70819159116, 93.33

70819159117, 63.53

70819159118, 21.63

Question Number : 43 Question Id : 70819117986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idr_-ntif}-' A in the given chemical reaclion.

_~CH;
CH Mo,O o
2 CH, 203 RN
L . ~~ 7 773K,10-20atm  major product
3
™ CHE'/ \“CI—I;
Options :
70819159119. :
: CHs,
70819159120.
70819159121. :
: .CHj,

70819159122.



Question Number : 43 Question Id : 70819117986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 20l 2l waui A7 2l

CH, Mo,0O4 i
Hy; — - A,
773 K, 10-20 atm Yoy o [Ysy

C
~
CH__
CH,4

Options :

70819159119.

70819159120.

70819159121.

CH;

SRR

70819159122.

Question Number : 44 Question Id : 70819117987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identi_f}-' A and B in the chemical reaction.

—HE o [A] Nal = [B]
(major) dry acetone (major)
NO,
Options :
OCHj, I
Cl Cl
.n"*'L = H =
I NO
70819159123. Bl i
OCH;,4 OCH;4
Cl I
A= B =
NO, NO,
70819159124.
OCH; 1
A —_— B —
Cl ]
NO, NO,
70819159125. B
OCHj, OCHj;
Cl
J""'h = B =
Cl
70819159126. D bt

Question Number : 44 Question Id : 70819117987 Question Type

Is Question Mandatory : No

: MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

A2 2l el wEAM A 2B 204l

OCH;
HCI
NO,
Options :
OCH;,4
Cl
r'*'L -
70819159123. NO,
OCH,
Cl
f""L =
NO,
70819159124,
OCH;
A=
Cl
NO,
70819159125.
OCHj,4
Cl
A =
70819159126. i

Question Number : 45 Question Id : 70819117988 Question Type

Mal

[B]

Hal 2AReln (3v1)

I
Cl
B =
NO,
OCH;

I
B =

NO,

1
B =
Cl
NO,
OCH,

B =
Cl
NO,

: MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HO*, A
_ 2) SOCl,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options :

70819159127. S Sl S

70819159128, (CHCH,C0),0

70819159129, HaCHCH;

70819159130, —HaCHCHO

Question Number : 45 Question Id : 70819117988 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 2l v wia Yoy Aluse LAl

1) HyO+, A
_ 2) SOCl,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options :

70819159127. S Sl S

70819159128, (CHCH,C0),0

70819159129, “HatHCH;

70819159130, —HaCH,CHO

: MCQ Option Shuffling : Yes



Question Number : 46 Question Id : 70819117989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde ?
Options :

Pd(11)/ Cu(II)

CH,—CH,+0O
2 2 2 H,0

70819159131.

CH;CH,OH -

70819159132.

i) DIBAL-H
i) H,0

CH5;CN
70819159133,

u
CH,CH,OH W
70819159134. o

Question Number : 46 Question Id : 70819117989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A2 200 W51 59 218 4L 2ilacdleds ol Al 7

Options :
PA(II) / Cu(Il
CHEZCHE'FDE { :If { J
70819159131. HO
CH;CH,OH >
70819159132.

70819159133.



i) DIBAL-H

CH;CN —
ii) H,O
Cu
70819159134, o

Question Number : 47 Question Id : 70819117990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

e COOH OH
NO, NO,
8 = B= -
NH, NH,
OH o,
Options:
70819159135, ‘* and B only
70819159136, = O™
70819159137, © and Conly

70819159138, Bonly

Question Number : 47 Question Id : 70819117990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



{12 2l iit[lw( Al) UsL sl () Sl custetivienl gl UIEL sei SEisHds Yud 53 8 )

COOH

NO,

Options :

L =
70819159135, oA #1B
70819159136, 7t ¢

L e
70819159137, L BA1C

L

70819159138,

Question Number : 48 Question Id : 70819117991 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following reaction/s will not give p-aminoazobenzene ?
NO,
i) Sn/HCI

ii) HNO,
iii) Aniline

i) NaBH,
ii) NaOH
iii) Aniline

i) HNO,
ii) Aniline, HCI

Options :



70819159139, “ only

70819159140, = MY

B only
70819159141. i

70819159142, A and B

Question Number : 48 Question Id : 70819117991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al sl 58 ubay/ bl p-2ifEsicdl- 202l 4dl

NO,
" i) Sn/HCl
ii) HNO,
iii) @i{lelln
NO,
. i) NaBH,
E ii) NaOH
i) 2Ailell
NH,
) i) HNO,
C- o .
i) 2Alell, HCI
Options:
£
70819159139, 1A

70819159140, 51 C

[ &
70819159141, £ B



70819159142, * 1B

Question Number : 49 Question Id : 70819117992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which statement is correct ?
Options :

70819159143. Buna-N is a natural polymer.

70819159144. Buna-Sis a synthefic and linear ﬂ'u:-rnmsetting pnl}-'mr_-r.

20819159145, Neoprene is an addition copolymer used in plastic bucket manufacturing.

20819159146. Synthesis of Buna-S needs nascent oxygen.

Question Number : 49 Question Id : 70819117992 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
53 [Aau W © 7
Options :

20819159143 oy LN 2| 552l vgds ©.

o4 1S 2 AN A ol AL eigas O,
70819159144, - :

20819159145, Al 245 dinzlld si-widlz © o widlsl Sd sasuHl Guaiel 9.

70819159146, 1S A ANERL etoit isailovell srR el ©.



Question Number : 50 Question Id : 70819117993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :
70819159147. C-1 of galactose and C-4 of glucose

70819159148. C-1 of galactose and C-6 of glucose
70819159149. C-1 of glucose and C-4 of galactose

70819159150. C-1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819117993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aselobil Aesilo wie g 5loedl 92 AlAArizl s4l rasug s oia cer © ]
Options :

70819159147, @52l C-1 A 2gslel C-4

70819159148. NESLlAAL C-1 2 3%5 LAl C-6

2ol C-1 247 dsdlarrl C-
70819159149, _Fo AL C-1 24 Plaselal C-4

agslotell C-1 2 &l C-6
70819159150. -



Chemistry Section B

Section Id : 708191739
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911019
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117994 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of NaECO,J in the mixtureis . (Rounded-off to
the nearest integer) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819117994 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

NaOH, Na,CO, it 3edls (A5 2A8(Eadl duiaett 0.4 g B Blegtldl sl G sila

T FCT 8 Agpiet 53, 23 (645 20175 mL HCl ezl ol ©, cions (ude viivesy Gl

AU 53U 249 O, Ul 2Al (65 Wl d o HCl Al 15 mL Al ev32 W 9. ol Bsei Na,CO,
Al ot sl 9. (4295 yellsui uG¢ i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819117995 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burstis . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819117995 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

35 psi 2l 27°C Y2, 215 513 AL L A glovet Ay A MA@l w 5eUL 40 psi 4l 4 48l dld
512l aral. dl 540 AtgiA °C 4 51 2 512817 (A5l yelisul UG- »1is)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117996 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol ~ L. The magnitude of AH,qg for the reaction

— 3 : _

is ______ kJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K 1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117996 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a5 oflao SaRllenul, waugs NHCN g 21t 2Ailsuoredl ula s 20d § il drll
AU 74224 K] mol 1 sig weall, ol 2A0ell ulaa we,

. 3 i i

AH ygq (L AL, K] 8. (ol yulisul 15 2ii5)
[l dl 2AiEel Al 24 R=8.314 T mol "1 K]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117997 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A,B, is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given Ky, for (H,0)=0.52 K kg mol 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117997 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2 Hidd [y [Aotse A,B, o o/dld g1l 60% 2idedls20l WHd 8. ol Tatm 4, 211 gl Gesad
g K8, (405l yelsui uBes i)
[Aha K, (H,0) =052 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117998 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[n basic medium CrO 42 oxidises 5‘2{}32 to form SO 42 and itself changes into Cr(OH), ™ -

The volume of 0.154 M Cr{_}f required to react with 40 mL of 0.25 M 52{']32 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117998 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o[z HLiE{'*L'L.{_'r(}f , '52{\}32 o 2Al[542a 531.5{}42 ol ¥ 2id o lﬂ?t'(_'r(mj D), Hiufadd

Wi 9, dl 40 mL 0.25 M 5,0,2~ Al i ML 2 2 0154 M Cr0, 2 A mL

sl vz WSt 7 (egsetl yollsui uBes i)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 56 Question Id : 70819117999 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K

logk
1 S
The temperature at which the rate constant of the reaction is 10 i e | K.

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 10> s~ ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819117999 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Mk, aA +bB — cC+dD e, 2t log k (¢4 - AlA 2 ® -

T ¢l = —10000 K
log k

%
sl i (K o) Wil o0 2imis 104 s~ 1 22l d 2l (495 youlsui uB-s i)
(24 500 Kz, buiAl 9oL 2mis 10 7519 ]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118000 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na, is 495.8 k] mol !, while
the electron gain enthalpy of Br is —325.0 k] mol I”"Given the lattice enthalpy
of NaBr is ~728.4 k] mol~!. The energy for the formation of NaBr ionic solid is
(). - =10 lk] mol ~1.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118000 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Nag Wl Nat Geur uedl 2u{lsze 2i-uiedl 495.8 k] mol =1 ©, sl Br «l desgl wiltel
wieedl 3250k mol ~1 9. NaBr Al detda 2iredl — 7284 k] mol =1 2444 9. ol 2ulels
NaBr Al #s/tiedl Gled (<) x10" 1K mol~1 9.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118001 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis .

(A) BF, (B) siCl, (€) Pdl; (D) SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118001 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Al 2t s, dalds($1) Al svan s ol svaldous ol A9 9 d/d=l
(A) BF, (B) SiCl, (C) PCl; (D) SF,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118002 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider the fol[owmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
=0 T Co, HA, Al ‘

The number of .-;pz hybridized carbon atom(s) present in the productis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118002 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A2k 2] 2ualons b A sl «l,

1) de=lo 2134 dlgl-l vl
CH=CH il il
"H=C -
: : 2) CO, HCI, AICI, i

Alusr Al sp? A5 WEAL 1ol WAl v 9.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118003 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Using the prf}vided information in the [ oﬂowing paper d'nmmatogram :

A =]
™SGolvent front
Be A
2cm
Beom
Ae : 4
2cm
b S T TTra——— W
/ i
7 = Base line
Spot

Fig : Paper chromatography for compounds A and B.
the calculated Rf value of A L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118003 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A2 2 Yz s iugl-l wulédl-i Guaion sadi

B YA AL

2om
5cm

Z N ojat 3l
¢M3
15[l : Hdierdl A 24 B HE Y4z sl
Adqoeddl 4R, ¥ x101 8.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
Section Id : 708191740
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911020
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ : N — Nsuch that f(n +1)=f(n) + f(1) ¥ neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819159161 If fis onto, then f(n)=n ¥ neN

70819159162. fis one-one



70819159163. If g is onto, then fog is one-one

70819159164. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QLS £ g N - N2l® 5 el fin+1)=F(n)+£(1), ¥ neN 2 g 519 2482 (484 8. EAAmiedl 4
(e e 9l ?

Options :

sl f I i, dl f(n)=nV¥ neN
70819159161. G

70819159162, [ ¥5-215 ©.

20819159163, ™ & M ¢, dl fog #i5-215 ©.

70819159164, 08 2l5-21s €14, dl g »is-2is B.

Question Number : 62 Question Id : 70819118005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the Iinosl(z —i)z=(2+ 1)z and '{2 +i)z+ (i— 2z - 4i=0, (herei*=~1) be normal

toacirdle C.Iftheline iz+ Z+ 1+ i=0is tangent to this circle C, then its radius is :
Options :

70819159165, 3v2

1‘H

(]
<
(]

70819159166.



2
< ‘ W
3]

70819159167.

ey
I:ﬂ| ol

70819159168.

Question Number : 62 Question Id : 70819118005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AR YR 2 - i)z = @+ )F A Q2+ i)z + (- 27 - 4i= 0, (udl2=—1) A ada C
At &, ad il iz + 2+ 1+i=0 2l2Uagn CAlwvels ¢, dladlBeett 8,

Options:

70819159165, 3V2

2
> \ -
3]

70819159166.

:ud”’

70819159167. 2V

|§ﬂ| ’4".

70819159168. ™

Question Number : 63 Question Id : 70819118006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
1S

Options :

70819159169, 2



70819159170, °

70819159171, 4

70819159172, U

Question Number : 63 Question Id : 70819118006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL 1223k~ D)x +8K2—7 > 0, R Hirtl Heds x 02 Uit €l g yells K o e
9.

Options :

R

70819159169.
70819159170.
70819159171, %

70819159172, U

Question Number : 64 Question Id : 70819118007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2n T i d
0,y= ) sin"dandz= 3 cos™"9 . sin”" ¢ then ;

n=0 n=0 n=0

f0o<h,d s Sl Cos

Options :

70819159173, WV ~z=(x 1 y)z



70819159174, YW 1z=(xty)z

70819159175, “Y tyztzx=2z

70819159176, V7 =4

Question Number : 64 Question Id : 70819118007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e s

Wd0<B, <o,x= l cos>"0, y= Y sin®$ Mdz= l cos?™0. sin?'¢ dl

n=( n=(0 n={
Options :

70819159173, W z=(x1y)z

70819159174, ¥ Hz=(x+y)z

70819159175, YW tyztzx=2

70819159176, “YZ =4

Question Number : 65 Question Id : 70819118008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Rolle’s theorem holds for the function f{x)=x"-ax?+bx -4, xe[1, 2] with f |f{| =0,
then ordered pair (a, b) is equal to:

Options :

70819159177. 2



70819159178. 5, —8)

70819159179. 55

(-5, —8)
70819159180.

Question Number : 65 Question Id : 70819118008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol (484 flr) =2 - ax + br 4, xe[1, 2] W . ¥ féj = () A A U Wug E, ol sHYsd s
(a, b) = |

Options :

70819159177. %k

70819159178. ® =9

70819159179. b B

(=5 —8
70819159180.

Question Number : 66 Question Id : 70819118009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1Y

lim | 14 = 1 is equal to :
n— n-
\ A
Options :

70819159181, 0



B3| =

70819159182.

4
70819159183. ©

70819159184, 1

Question Number : 66 Question Id : 70819118009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f

1 4 ] b —
2

lim |1 4 = —
n—x n<

\ A
Options :

70819159181, 0

B3| =

70819159182.

70819159183. ©

70819159184, !

Question Number : 67 Question Id : 70819118010 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The value of the intr_-gral

J-s'mu.sin 20 (sin®0 + sin®0 + sin20) v2sin?0 + 3sin20 + 6
1 — cos20

do is :

(where c is a constant of integration)

Options :
3

: [9 25in®0 — 3sin?0 asmzuF FoC

70819159185, 18

3

'1 i
[9 2c0s’0 — 3coso 6{:052[]}2 FC

70819159186. 18

' 3
L 11 - 18sin%0 + 9sin0 Zsﬁmﬁﬂ}i b e
70819159187, 18

3

1 [11 18cosZ0 + 9cos?o ECGSE'UF FC

70819159188, 18

Question Number : 67 Question Id : 70819118010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dedaen. ... 8.

Jsmu.smm (sin®0 + sin?0 + sin20) y2sin?0 + 3sin20 + 6
1 - cos20

(sl ¢ 2 dsan-l 2u0ls ©)

Options :

. 3

— 9~ 2sin® — 3sin*0 — 6sin®0 2 + ¢
70819159185, 18

1 3

e [9 ZCDSEU 34:05'1[] t‘w-::n:}z-l‘j‘[]}E - C
70819159186, 18

70819159187.



3 .
ﬁ [11 18sin20 + 9sin*0 zsinf’n]z .

3 3
_L {'l'l 18cos20 + 9coso Zcosf’l]-lz Foc
70819159188, 18 :

Question Number : 68 Question Id : 70819118011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
5
The value of szell ]:fh' , where [t] denotes the greatest integer = t, is :
-1
Options:
T

70819159189, 2

-
70819159190, 2¢

e |

70819159191, 3¢

e + 1
70819159192, 3e

Question Number : 68 Question Id : 70819118011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1
2 |x? . y . " r
Jx*ell ld:r s Lo SRR - O 18| a5y Yeus = tsd O,
-1

Options :



'c-l'l
70819159189, 2

1
70819159190, -¢

2T |

70819159191, ¢

e+ 1
70819159192, 3e

Question Number : 69 Question Id : 70819118012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

¥ —4xtyd 8, then this curve also passes through the point :

x-2
Options:

70819159193, (% )

70819159194. (> 5)

70819159195, (> %)

70819159196, (4 4)

Question Number : 69 Question Id : 70819118012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o

o et QP Cigaiall wat 4l @1 4 At A B (r, ) 2o wualsll e T4ty + 8
x—2

e, oy [hguiall el v A,

Options :

70819159193, ()

70819159194, )

70819159195. (5 4)

70819159196, (4 4)

Question Number : 70 Question Id : 70819118013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The image of the point (3, 5) in the line x —y +1=0, lies on :
Options :

70819159197, X~ 47+ +2)*=16

70819159198, (X~ 2)" T (¥

_AY2
70819159199, (X ~4)~+ (¥

92
70819159200, (* 2=+ (y—2

Question Number : 70 Question Id : 70819118013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[ 3,5 dux—y+1=0widalla 24 wyz2udg 8.



Options :

70819159197, (X~ 4+ (y +2)?=16

4

- 2 n2
70819159198, (¥ ~2) Ty —4)
70819159199, (X ~4)* (v —4)?

. 2 9
70819159200, (¥ 2=+ (y—2

Question Number : 71 Question Id : 70819118014 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parahola yzzﬁx which is porpendicular to the line 2x 4 y=1.
Which of the foIIowing points does NOT lieon it ?

Options :
3
70819159201. 92

70819159202, (6 0)

70819159203, (> 4)

(4, 5)
70819159204,

Question Number : 71 Question Id : 70819118014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ey 7 =6 A s 2URls SRA 9, o L 2x +y=14 ot 8, Al2Al Witll 2 (6 dedl wz 2ueg ] 7

Options :



2
70819159201. 03]

70819159202, (& 0)

70819159203, (> 4)

(4, 5)
70819159204.

Question Number : 72 Question Id : 70819118015 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. y. 2 i

- x 1

If the curves, & | yl_ =1 and ? | ”E = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819159205, @ tb=ctd

70819159206, @ ~b=c—d

c+d
b

ab =
70819159207. a

70819159208, @ ¢=b+d

Question Number : 72 Question Id : 70819118015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I . : .xz
das ¢ L= 1wl —

a b C
SR

R[5

= 1 @isoflatrl 90° Al el Drctl €, dl dlainiel 54l 2ol



Options :

70819159205, @ Tb=ctd

70819159206, @ b=c—d

c+d
b

ab =
70819159207. Cg

70819159208, @ ¢=b+d

Question Number : 73 Question Id : 70819118016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations
[+m-n=0 and I*+m?-n?=0. Then the value of sin*a + costu is :

Options :

w|w

708191592009.

70819159210.

h| =

70819159211.

| s

70819159212.

Question Number : 73 Question Id : 70819118016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o4l (5SS, Wllsel T+ m—n=0 2 P+ P~ n?=0 o MUl s3cll €A dell TRl 9224]
'“j,@[[ Qo éll{, dl sinfa + costa '} [ 3 S .

Options :

w| W

708191592009.

oo wr

70819159210.

R | =

70819159211.

| 03

70819159212.

Question Number : 74 Question Id : 70819118017 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

i b Iis:
2 3 2

Options :

.
70819159213, 3 4 3

70819159214, 9 4 3
x _ ¥ 1. = 2

70819159215, 3 4 3
- 1. = 2
3 4 3

70819159216. -



Question Number : 74 Question Id : 70819118017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
z—1

E@uhLzyMﬂuamqﬂmﬁﬁwlxjIzzygl = ddaufeelie 8.
Options :
£ §y—1 z—2
70819159213, 3 4 3
A e T
70819159214, 5 4 3
- e e
70819159215, 3 4 3
x gl g2
70819159216. 3 4 3

Question Number : 75 Question Id : 70819118018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . 1
When a missile is fired from a ship, the probability that itis intercepted is 2 and the probability

d s 1
that the missile hits the target, given that it is not intercepted, is 1 [f three missiles are fired

independently from the ship, then the probability that all three hit the target, is :

Options:

1
70819159217, 27

3
70819159218, ©



| W

70819159219.

EaY

70819159220.

Question Number : 75 Question Id : 70819118018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s = . n m m . e 1 . S . i
‘-‘{QELL?F'LLS{[ [:4\'[::{[55:(1 HISHML 2 9, o 225l 204 dtl HH-L ; 9 2 e 2ASAAHL 2l

A R i SN | B .?"* “ s W 1 = .
A2l] d¥ AU G U o @B HIEL ol HeugHl i 9. od agtomial [Haie dd e Faudd i
le, ol A0 @8 W Al oL 9,

Options :

1
70819159217, 27

oo | -

70819159218.

oW

70819159219.

.4-_,.|-_,.;'

70819159220.

Question Number : 76 Question Id : 70819118019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The coefficients a, b and ¢ of the quadratic equation, ax2+bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819159221, =6

70819159222, 54

5

70819159223, 72

5
70819159224, 216

Question Number : 76 Question Id : 70819118019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[geurt alls2t ax? + b+ c=0 Al #4815l a, b 2 ¢ 2L 215 Wil 281 4d Gl Hanadi 2ud
9. dl 2L wellszeid Wit oflsr dlendl Mol 9.

Options:

70819159221, 26

70819159222, 54

55

70819159223, 72

5
70819159224, 216



Question Number : 77 Question Id : 70819118020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 [0, 27| for which sin 20 + tan 26 > 0 lie in :

Options :
. E\] . |fFr F’r_’.r\'|

70819159225, ~ 2/ L 2

']fu g SR fatiecd BF B
70819159226, * +/ 2 7" &

|.f[:| '.'T\' |'(".T .-%'.'i' \.| | .TTT |
70819159227, © 2/ 27 4 28

Tu ) {0 = [, EZ‘kJ[Ez 7)
70819159228, © 4/ 127 4 B el e

Question Number : 77 Question Id : 70819118020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin 20+ tan 20 > 0 A ddl 0 2 [0, 27l 2 M Budl  wiwug 9.
Options :

i
70819159225,

o [ 2=

F.r“'| i 317\
2 el

s

.r[] E.\| i |fE 1_’”| 5
70819159226, & 4/ \2°

o, ;}].d

= = o S
70819159227, ~ =’ -



i S5 (3w 7))
w 1’.1', —| N e
\ T J

ar (7T
0, —| v |, il
i -2 '-2 —1'_,.-'

EEI]
70819159228, =/ S

Question Number : 78 Question Id : 70819118021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819159229, 24

70819159230, 30

70819159231.

70819159232, *°

Question Number : 78 Question Id : 70819118021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xyz=24 YR ddll dd 44 youls Gdl (x, y, z) Alzvan 09,
Options :

70819159229, 24

70819159230, 30

70819159231, 20

70819159232, *°



Question Number : 79 Question Id : 70819118022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower 18 :

Options :

70819159233, 10

10(3
70819159234, 1033 + 1)

70819159235, 103

70819159236, 10(v3 — 1)

Question Number : 79 Question Id : 70819118022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

w5 e4fsel Tl o1 weedl, 2ds €ldlA (APadt (G A 2ol e g 2is el 260 2Ud g2l op2 .
d (G524 GSIL 4 lsetedl @i gl 20988 5160 30° 9, (aldl Glud 2qiell). el dollan (s
el ek 8) dzg 20 Asws Ul yausdl o, €16 O B 200 el B, sl v 511 45° 9. ol
éldll (O B @l el ol yel uéiua we dlad wnn (ds=sni) @,

Options:

70819159233, 10

10(/3
70819159234, 10¥3 + 1)

70819159235, 103



70819159236, 10V3 ~ 1)

Question Number : 80 Question Id : 70819118023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :

Options :

70819159237. 4 = (A = B)

70819159238, 4 = (A v B)

70819159239, & —7 (A A B)

70819159240, * 7 (A < B)

Question Number : 80 Question Id : 70819118023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e A - (B—=A)= Al s,

Options :

70819159237, = (A — B)

70819159238, &4 = (A v B)

70819159239, & — (A A B)

70819159240, * 7 (A< B)
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708191741
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Question Number : 81 Question Id : 70819118024 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(0 .

0 tan‘ —| :
. \2) a
If A= and {I2 +A) ([2 A) 1= {

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

_b

b
2 w then 13(a®+b?) is equal to



Question Number : 81 Question Id : 70819118024 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.f” 1
0 tan —|
=, \ 2') =
ol A= A4 (I, +4) (I,

."”\-, L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

bl X
o | €4, dl 13(a%+b?)

Question Number : 82 Question Id : 70819118025 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- A
Let A=|y z

Xy

If AE:IE, then the value of 4 l'ﬂ r2is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

x|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.

Question Number : 82 Question Id : 70819118025 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



r y 2

QRis A=y z x|, sedlx,y 2 z 2 ol drdlas @l 8, S el x+y+z > 0 A ayz=2.
zxy

W A2zl é, Al P riP Py 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118026 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=1
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then kisequalto ___ .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118026 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



wd H3{l52 Held
kx +y+2z=1
3x—y—2z=2
2x—2y—4z=3
A vy Ghdl ¢, dl k=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819118027 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118027 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 2isle] Yt szeltedl 92 o €l ol 100 2 1000 422 208, 20501, 2, 3, 4, 5 4l otetedl 244 3
Yl 5 4 (oo ¢l del dvuplidl dva 8.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118028 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Al, Az, A3, ... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of AM I If the length of Al is 12 cm, then the smallest value of n for
which area of A is less thanone,is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118028 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

RIS Ay, Ay Ay o A2 AR O S el duels n=T W A <l cugfell dond rer A A
[Eiseiedl dond a. ot A Al dond 12 2{L €4, dLA o S50 215 s3cti 2 W4 A9 n o A g
U1 S}

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 86 Question Id : 70819118029 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2v+1|-3x +2/ +[x*+x -2, x e R is
not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118029 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(484 flx)=|20+1-3)x+2/+ a2 +x-2, x £ R o4l [sadld 4 ¢ld dan [Cgaiidl v
o.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118030 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of P is unity and it has

; (x)
extrema at x=—-1and x=1. If lim —-
—0 x

=1,then5f(2)isequal to .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118030 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
QRS f(x) 26 el x Al agusl ©, % ol 2 Al 4epes s s ©, A del 2cdilas yedl

r=-1%d x=120N 9. ol lim f{—§'= e, oty -
=0 y i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118031 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 88 Question Id : 70819118031 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
sine @ cosine (4441l 2L 215 ol Hvaroi (G2l 88 8, i o 361y Selbigal 92 4
L] HHlA M50 A 2l 8, dl A =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118032 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

ﬁx ¥ 4( \,ﬁ] k =0 is a conic, whose eocemlncaly .- -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118032 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



el (3 ke 4 ky — 443 =0 W 3y y— 4(J3) k=0 i Sl [G5uaq wellstel 248
et 9, ell Begal 8,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118033 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— —

—3 A A A =3 A A M A M
Let a=i+2j-k b=i-jand ¢ =i~ j— k be three given vectors. If r isa

- s = -5 3 - =

vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto ________.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118033 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A,

RIS a =i +2j —k, b=i—-j Al c=i-j-kANAQUCAS. o r 2 2As 2l
l —
a

B dused rx a=cxawddr-b=0ydr
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001



